Name: Class: .
4( Divide numbers ending in zeroes by 1-digit numbers )
Divide the following.
a. b.
7| 660 61 36,000
Divide the following and circle the most correct answer
a. 414,000+ 4 b. 84,000 + 8 c.| [157000+9
103,500 3,500 17,444 R 5
10,350 35,500 17444 R 4
10,530 39,550 17,444
d. 490,000+ 7 e. 92,000 =8 f 00,000
70,000 88,500 0,00
7.000 850 15,845
700 86,50 0,64
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N\
Divide numbers ending in zeroes by 1-digit numbers /i‘
Divide the following
PN
94 — Quotient b. 61000
71 660 6| 36,000
63+ _36
30 —>» |Stop here and add the
28 remaining zeroes in the quotient

Therefore, 36,000 =6 = 6,00

Therefore, 660 =7 =94 R 2

Divide the following and circle the most correct answer.

414,000 = 4 b. 84,000+ 8 c.| 1574000+ 9
103,500 3,500 17,444 R 5
10,350 (35500 ) (17444R 4)
10,530 39,550 17.444
490,000+ 7 e. 92,000 =8 f. 100,000 =5
(70,000 ) 88,500 (20,000 )
7,000 8,850 15,845
700 (86,500 ) 0,64
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